Crossway Trucking LLC

607 W Chambers Drive Suite #1 Booneville, Ms 38829

Contact #

Office 662-720-9970

Josh 662-882-9467

Bid for City of Tupelo

2024-2025



MATERIALS AND DELIVERY – RIP RAP, SURGE AND GABION STONE, #1 STONE, CRUSHER RUN, MANUFACTURED SAND, CLAY GRAVEL, FILL SAND, RED DIRT

12 MONTH SUPPLY

CITY OF TUPELO, MS

BID # 2024-048PW

BID FORM

This Bid is submitted for: <u>MATERIALS AND DELIVERY - RIP RAP</u>, <u>SURGE AND GABION STONE</u>, #1 STONE, CRUSHER RUN, MANUFACTURED SAND, CLAY GRAVEL, FILL SAND, <u>RED DIRT - 12 MONTH SUPPLY</u>

This bid is submitted to: <u>City of Tupelo, 71 East Troy Street, Tupelo, MS 38804</u> (Owner)

The undersigned, in compliance with the request for bids hereby proposes to furnish MATERIALS AND DELIVERY - RIP RAP, SURGE AND GABION STONE, #1 STONE, CRUSHER RUN, MANUFACTURED SAND, CLAY GRAVEL, FILL SAND, RED DIRT - 12 MONTH SUPPLY for the City of Tupelo in accordance with the specifications provided for the following UNIT PRICE amount:

| Item Description | Qty. | Unit | Unit Price | Extension |
|------------------------------|-------|-------|------------|-----------|
| Item 1: 300 LBS RIP RAP | 5000 | TONS | 35.00 | 175,000 |
| Item 2: 100 LBS RIP RAP | 5000 | TONS | 35.00 | 175,000 |
| Item 3: SURGE 8 inch | 2500 | TONS | 34.75 | 86,875 |
| Item 4: GABION 6 inch | 2500 | TONS | NA | NA |
| Item 5: #1 STONE 3 inch ROCK | 2500 | TONS | 30.25 | 75,625 |
| Item 6: CRUSHER RUN | 15000 | TONS | 27.75 | 416,250 |
| Item 7: MANUFACTURED SAN | 1500 | TONS | NA | NA. |
| Item 8: CLAY GRAVEL | 5000 | TONS | NA | NA |
| Item 9: FILL SAND | 2500 | TONS | NA | NA |
| Item 10: RED DIRT | 2500 | YARDS | NA | WA |
| Item 11: SPOILED DIRT | 6000 | YARDS | NA | NA |

Bidder acknowledges that estimated quantities are not guaranteed and are solely for the purpose of comparison of Bids, and final payment for all Unit Price Bid items will be based on actual quantities, determined as provided in the Contract Documents.

BIDDER ACKNOWLEDGES receipt of the following ADDENDA:

| NUMBER: | DATE: _ | 8127 (2024 |
|---------|-----------|------------|
| NUMBER: | DATE: | |
| NUMBER: | DATE: | ···· |

BIDDER INFORMATION

| Company Name: Crossway Trucking Ill. |
|---|
| Company Representative: Joshun Smart |
| Title: Owner |
| Business Address: |
| Street: 607 W Chambers DR Swife #1 |
| City: Booneville State: M5 Zip: 38829 |
| Phone: Jost- Coc2-882-9467 Email: jostra. 5 mont @ cosserry trucking. con |
| Signature of Bidder: |
| Date: 8/24/24 |